Quiz 5
Math 3C: Precalculus
November 7, 2019

I When you finish, please remain seated until class is dismissed
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Problem 1 (8 points). Let ﬂg\nou\oq v“aplac X" with

G2y ¥ Sl = his wes « type
h(a) =
(x = 3)(x — 2)(x + 3)2
(a) What are the vertical asymptotes of #(a)?
De.nomino}or\ zero, mwMe/\cala/\ NoNzero,

(x- -4 =0 —> x=3,2 or -3,
Bu"L x=2 makas Vlw/ﬂéf;d‘&/‘ zero —> na'f‘ o as‘)/m,ao"é-

Answer: Jx=3 [ andd [x:'B[’ ore as;mﬂé‘k,s (vertieal)

(b) What are the horizontal asymptotes of h(a)?
Dearee & numerater s Jess )’)’M oleafzae o olamm;‘nadvc
8o horizontal aS)/mP‘"D"I'E S m“";xf-_‘g_;

(c) Does h(a) have any holes? If so, where?

Yes. x=2 mikes \oo‘H" numefmlv/‘ a1/70[ o/e/lom}mrLo/*
QZaa/ zero, so Here is al’\c)e A4 x=2.

To ?mj \/e/‘f‘lcq’ C'Oé)fbﬂl‘mx'j‘é'-

LD X 5 2L 12;1?25 B %
(-2 6c+3)” T 3T 2Be

THERE IS A SECOND PAGE
Hg /@ a:)‘ )?2/;7 fj’((z) 2,\14




(d) Which of the following graphs could potentially be the graph of h(a)? circle one
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Problem 2 (2 points). Suppose you have an investment account with $3000 in it
that generates interest. If the interest rate is 10% compounded annually, what is the
amount of money in the account after 1 year?

/0 % )ﬂ}'@’i’a"f Pef )/gg_/\ '07@ incréase eao,['\ )/ea,f
meons  balance is
[0 of 300 1> I’)’)d“?‘;a/)ea[ b)/ .| em)’l)/ea/‘

Q. ] -3000 =300

| Q000 -|. |= 3300,
APler 4 yeor, belance is
000 + 0o =3200.
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